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This paper consists of seventy five multiple-choice type of
questions.

At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.

Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neither the Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the Test Booklet Number
should be entered on the OMR Sheet and the OMR Sheet
Number should be entered on this Test Booklet.

Each item has four alternative responses marked (1), (2), (3)
and (4). You have to darken the circle as indicated below on
the correct response against each item.

Example: M) @ @ (@ where (3)is the correctresponse.

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark your
response at any place other than in the circle in the OMR
Sheet, it will not be evaluated.

Read instructions given inside carefully.

Rough Work is to be done in the end of this booklet.

If you write your Name, Roll Number, Phone Number or
put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, such as change of response by scratching or
using white fluid, you will render yourself liable to
disqualification.

You have to return the original OMR Sheet to the invigilators
at the end of the examination compulsorily and must not
carry it with you outside the Examination Hall. You are
however, allowed to carry original question booklet and
duplicate copy of OMR Sheet on conclusion of examination.
Use only Blue/Black Ball point pen.

Use of any calculator or log table etc., is prohibited.

There are no negative marks for incorrect answers.

In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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PSYCHOLOGY

PAPER - III

Note : This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

1.  The factors that influence social behaviour and thoughts in certain ways are called :
(1) Independent variables (2) Confounding variables
(3) Dependent variables (4) Mediating variables
2.  Read each of the following two statements - Assertion (A) and Reason (R) and indicate

your answer using the codes given below :

Assertion (A) : In pre - conventional stage children understand morality on the basis of
social customs and values.

Reason (R) : In pre - conventional stage, children make decisions based on whether they
will be rewarded or punished.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3)  (A) is true, but (R) is false

(4) (A) is false, but (R) is true

3.  Research shows that the following does not contribute to teacher effectiveness :
(1) Communication skills (2) Use of ICT
Years of experience (4) Use of student feedback
s IHIIHIIIHHHH (A z Fapeca
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4.  Match List - I with List - IT and select the correct answer by choosing from codes given
below :

List -1 List - II

(a) Graphic rating scales (i)  Evaluation method where employees are
ranked from best to worst.

(b) Behaviourally anchored rating scales (ii) Evaluator rates employees on
classification of some qualities.

(c) Group order ranking (iii) Evaluator rates performance factors on
an incremental basis.

(d) Individual ranking (iv) Evaluator rates actual job related
behaviour along a continuum.

Codes :

(@ (b) (o) (d)

O O @ @)

@ () @) 0 G

@) ) @) @

@) @ @) @6

5. Read each of the following two statements - Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Obsessive compulsive disorder is a disorder of thought and is thus classified
in the schizophrenia spectrum in DSM-5.

Reason (R) : Evidence base shows that a combination of pharmacotherapy and
psychotherapy yields good results in OCD therapy.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(3)  (A) is true but (R) is false

(4) (A)is false but (R) is true

6.  Phonemic restoration as we perceive speech in a noisy party is an example of :
(I) Top down processing (2) Bottom up processing

(3) Subliminal perception (4) Supraliminal perception

7.  Feeling touchy or hypersensitive following an upsetting experience is a form of :

(1) Imprinting (2) Habituation
(3) Sensitization (4) Reflexive Behaviour
o-ons [ [N ; Fapeca
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8.  Entry of information into long term memory depends upon :
(a) Maintenance rehearsal (b) Elaborative rehearsal
() Method of loci (d) Primary memory
Codes :
1) @and®) () @and(@© () Gand(d) @ (b)and
9.  Because it has the external features associated with the concept of dog, a wolf is perceived as
a dog. This is an example of :
(1) Centration (2) Equilibration
(3)  Object permanence (4) Prototype
10. Which of the following is the final destination for much of the brain’s information about
emotion before action is taken ?
(1) Amygdala (2) Anterior cingulate cortex
(3) Pre-frontal cortex (4) Hypothalamus
11. Cattell propounded gf-gc theory of intelligence mainly based on :
(1)  First order factors of abilities (2) Second order factors of abilities
(3) Third order factors of abilities (4) Higher order factors of abilities
12.  Which of the following are elements in Carl Rogers” person centred theory of personality and
psychotherapy ?
(a) ideal self (b) congruence (c) positive regard (d) dissonance
Codes :
(1) (a), (b) and (c) (2)  (b), (c) and (d)
(3) (@) () and (d) (4) (@) (b) and (d)
13.  Which one of the following statements is true ?
(1) The ‘Global Five’ factors in personality refer to the second-order factors of 16 PF, latest
edition.
(2) The ‘Global Five’ factors refer to the factors assessed by the NEO-Five Factor Inventory,
latest edition.
(3) The ‘Global Five’ factors refer to the factors assessed by Goldberg’s bipolar adjectives.
(4) The ‘Global Five’ factors are derived from Eysenck Personality Profiler, latest edition.
oans [ [|HNHRA AN
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15.

16.

17.
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Read each of the following two statements - Assertion (A) and Reason (R) and indicate
your answer using the codes given below :

Assertion (A) : Castration does not eliminate sexual behaviour completely in mammals,
including humans, of both sexes.

Reason (R) : Hormones do not play role in the regulation of sexual behaviour.
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(3)  (A) is true, but (R) is false

(4) (A) is false, but (R) is true

Read each of the following two statements - Assertion (A) and Reason (R) and indicate
your answer using codes given below :

Assertion (A) Helpful individuals perceive the world as fair and predictable in which
good behaviour is rewarded and bad behaviour is punished.

Reason (R) : People believe in a just world.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false

(4) (A) is false, but (R) is true

Which of the following statements best defines maturation ?
(1) Itis directly based on social-cognitive learning

(2)

(3) It does not take place in human beings
(4)

It is an automatic biological development of the body that naturally unfolds over time
It is the basis of all physical and psychological developments

Read each of the following two statements - Assertion (A) and Reason (R) and indicate
your answer using codes given below :

Assertion (A) : Leaders exert powerful effects on followers through the attributions followers
make about them.

Reason (R) : Leaders have self confidence and environmental sensitivity.
Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3)  (A) is true, but (R) is false

(4) (A) is false, but (R) is true
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20.

21.

22.

The following disorders are coded on Axis I of a five axis diagnosis :

(a) 'V codes (b)  personality disorders
(c) clinical conditions (d) intellectual deficit
Codes :

(1) (a)and (c) only (2) (b)and (d) only (3) (a) and (d) only (4) (b) and (c) only

Four important elements in the theory of signal detection are :

(1) errors, hits, speed and accuracy

(2) speed, accuracy, power and false alarm
(3)  hit, miss, correct rejection and false alarm
(4) acuity, efficacy, speed and power

In Hullian System the term Hierarchy of Responses is used to depict :
(a) If the first innate response pattern does not alleviate a need, another pattern will occur.

(b) If the second innate response pattern does not reduce the need another pattern will
occur.

(c) If the third innate response pattern does not work, still another pattern will occur and
SO on.

(d) If none of the innate behaviour pattern is effective in reducing the need, the organism
will stop responding.

Codes :
(1) (a) (b)and (c) (2) (a) (and(d) (3B) (b), (c)and(d) (4) (a), (b)and (d)

Jia had written a list to do her week end work, but incidently left it home while going out for
her first activity. Trying to remember the list, Jia remembers what was at the beginning of
the list and what was at the end but not those things in the middle. This is an example of :

(1) Encoding specificity effect (2) Flash bulb memory
(3) Serial position effect (4) Tip-of-the tongue effect

How does one choose the option with the highest expected utility while making rational
decision making ? Find the correct sequence :

(a) Assigning utilities

(b) Weighting/multiplying the utilities by the likelihoods
(c)  Evaluating the likelihood of alternatives

(d) Assessing the consequences

Codes :

(1) (@) (d) (b) a), (¢), (b), () () (@) (d) (), (b) (4) (c) (d) (@) (b)

@ @
o-aas [ HIFHII N 10
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23. Brief stress enhances the activity of immune system as evidenced by the action of
(1) macrophages (2) Tcells (3) Becells (4) all the above
24. Torrance Tests of Creative Thinking (TTCT) are mainly indexing :
(1) Creative Products (2) Creative Processes
(3) Creative Personality (4) Creative Persuation
25. Personality assessments in forensic settings use the following psychometric and behavioural
measures :
(a) Galvanic Skin Response (GSR)
(b) Millon Clinical Multiaxial Inventory (MCMI)
() Continuous Performance Test (CPT)
(d) Sixteen Personality Factors Test (16 PF)
Codes :
1) @and(®) @ (©@and(d) (@) () (Band© 4 ) () and (d)
26. Read each of the following two statements - Assertion (A) and Reason (R) and indicate
your answer using codes given below :
Assertion (A) : Paired comparison method is not considered suitable for scaling large
number of attitude scale statements.
Reason (R) : For computing scale values, paired comparison method uses Thurstone’s
Law of comparative judgement.
Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false
(4) (A) is false, but (R) is true
27. The following are found to be significant factors in educational achievement :
(a) teacher - student ratio (b) medium of instruction
(c) rehearsal and practice (d) environmental stimulation
Codes :
(1) (a) and (b) only (2) (a) and (c) only
(3) (a), (c) and (d) only (4) (b), (c) and (d) only
o-aas [ HIFHII N 2 Faper
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24, IR FH GoATHS Ara G (RA A Frafafad § 9 frwst A €2

(1) YSHIH IcA (2) YIS Fisharg

(3) ST AR (4) YGSHIHS JoA=H

25. R\ AT H =Afada e &g ffafad TR 3R Saeria SarE! 1 92 faa < @
(a) oAl fer g (S.TE.eR.)
(b) THeeH FAfTha AeeiUfoTad sa=d (TH.1.TH.3TE. )
(c) TH=IGAT WHHY = (H.dA.)
(d) o= TEAE ol T (16 91.0%.)
e :
(1)  (a) 3 (b) (2) () ¥R (d) 3) @) OIN(E @ ) (© I

26. Frefafed 9wl - afaeweT (A) 3R aeh (R) 1 Wfge oIk 9 fou Tu Fei =1 S #:3@ g wd
WW:
AMUFRST (A) : =Sl Hen ° Af9efa At sweel & "o & foe gfivg qomn fafa soge T8
AT S
e (R) : AT el i AT w3 & fae gima qor 9sfd § ofed & gaq o

fgid =1 ST T Siran 21

e :
1) (A) 3R (R) AT T € IR (R), (A) 1 T =08 B

2) (A) 3R (R) I 9t § W (R), (A) FT FE =A@ T 7
(B) (A) @ E, dfFA (R) T 71
(4) (A) 7T ¥, AR (R) W&l

27. Setfors Iudfsy § frfafad § § &9 Aeayul ®Re & €9 90 S © 2

(a) Trerr-fommeft stquma (b)  Tretor skt HIEAH
(c) Yo SR 1 (d) wEfeRiE e
W‘ :
(1) faf (@) R (b) (2) faf (a) 3R (o)
3) fa% (a), () ¥R (d) 4) fa® (b), () R (d)
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28.  Which one of the scaling method is more likely to yield multidimensional attitude scale ?
(1) Guttman scalogram analysis
(2) Paired comparison method
(3) Equal appearing intervals method
(4) Method of summated rating

29. When is aspiration a method of choice to make a lesion ?

(1) in a deeper brain area (2) in an area of cerebral cortex
(3) anirreversible lesion (4) in underlying white matter

30. Trace the sequence of events turning default female sex of the fetus into male :
(a) SRY gene produces Sry protein
(b) Presence of Y chromosome
(c) Testosterone masculanize Wolffian duct into seminal vesicles
(d) Primitive gonad develop into testes
()  Mullerian inhibiting hormone defeminizes the fetus
Codes :

1) (b) @), @) @) © 2 (b)), @) @) ©
() (b, (d) (a) (e) (9) 4)  (d), (b), (a) (0) (e)

31. A psychologist was administering a projective test which involved a word association task.
She tended to nod and smile every time a plural word was given by the respondent. The
following testing bias was seen :

(1) favoritism (2) test wiseness
(3) selective reinforcement (4) gender of assessor

32. Match List - I and List - IT and select the correct answer by choosing from codes given

below :
List -1 List - II

(Measure of Personality Assessment) (Scoring element)
(a) MMPI @ V, XY, Z scales
(b) MCMI (i) Needs and presses
(c) TAT (iii) Populars
(d) Rorschach Inkblots (iv) L, F, Kscales
Codes :

@@ (b) (o) (d)
W) (W) @ O
@ () @) @) 0
@) O @) @) )
@ ) O @ @

oaas [ [TV 1 Fapeca




28. Trfafed # & frg wmam fafy @ sifuss sgemard sfygfa A &1 Smear g 82
(1) TeHT ThetumH fageryo
(2) gftad qer fafy
() wE g * FHaua fafy
(4) AR A9 & faty
29. WROTl e faarfd w1 & foaeed &1 w fafy 82
(1) Wfsh % HTHN FRX F & o (2) T FET Fk &F H
() TH Ay faafa § (4) Frfifed vod e |
30. YU % 1R el e o qew fon # uftafdd g @t sl w5 ot R ?
(a) SRY S Sry T a1 whea €
(b) Y TURLS i SufEfd
(c) <SRN Fifchad el i YEhTd Y § Y9 I 3 |
(d) omeg S U, guv H faswfad @t 7
(e) TR FueswRl B o1 1 STEHI0N HTal ¢ |
< :
1) (b), (a), (d), (e), (0) (2)  (b), (d), (e), (@), (c)
B)  (b), (d), (@), (e), (0) (4)  (d), (b), (@), (c), (e)
31. T TARIE T IR Tdernn & @1 o fod ue vieg TEifaweE & et on) S e
T FRT dga= U M W 9% & 9K R feardt ot oiR qeeprdt of | 5o frefafed whemo swa
@1 T
(1) ve&fad (2) Tl gfg
(3) TIAHE Yo (4) Tdrerorhdl & fefm
32. G- [ & Gt - 11 & 9 gofara &L a9 A= U T8 el § 9 G@ ST A1 =997 B
T - 1 g - 11
(AfFIT 3THeTT Tt AT ) (TR aee )
(a) TH.TH.H.STE. () dff, T, 916, SE ha
(b) TH.E.TA.SE. (i) STEvIHATT R o
) <wn (iti)  SARI
(d) T wteE (iv) TH, T, & Thd
%<
(@ (b) (9 (d)
1) @) @) @ ()
(2) @) (v) () (D)
G) @ () (v) (i)
4) (v) @@ @) (i)
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33.

34.

35.

36.

Read each of the following two statements - Assertion (A) and Reason (R) and indicate
your answer using codes given below :

Assertion (A) : gf and gc correlate positively with each other with moderate magnitude.

Reason (R) : Cattell used second - order factor solutions for the identification of gf and
gc were oblique.

Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3)  (A) is true, but (R) is false

(4) (A) is false, but (R) is true

The underlying motivation for acts of aggression is
(1) intent to harm (2) anger

(3) retaliation (4) need to exert control

Which of the following is a characteristic of Chomsky’s theory ?
(1) Development of language is between three and five years of age
(2) Language development is dependent on the reinforcements received by the child

(3)  Children acquire mistakes in language by observing their parents and others around
them

(4) Children have an innate mental grammar

Match List - I with List - II and select the correct answer by choosing from the codes given
below :

List - I List - II
(a) Physical trauma (i)  The cognitive and emotional upheaval that follows a highly
distressing life.

(b) Psychological trauma (ii) Most of us remember nothing before the age of about 3 to
4 years.

(¢) Infautile amnesia (iii) It may cause permanent amnesia if particular areas of the
brain are damaged.

(d) Repression (iv) Distressing mental content is transferred from the
conscious to the unconscious level of awareness.

Codes :
(@ () (¢ (d)

@ @ @G (@)
(2) @) () @) (@)
(®) @) @ (@) (@)
@) Gv) () @) (@)
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=
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6] ]

frefafad 9 sl - tfueRe (A) 3R ek (R) #1 ufey iR 919 fou Tu 2 &1 Suei i g we
I ST :

ARIRIT (A):  gf 3R ge 3T § FTOF TR d% ¥HF F9 T Hegm=igd e €|

e (R) : Hed A of AR ge H U= 7g f5-hHh FREF FaTeHI 1 GAN fohan st foefer & |
e :

(1) (A) 3R (R) T T ¥ IR (R), (A) FT T == B

2) (A) 3R (R) I "t § W (R), (A) FT TE =A@ T R

(B) (A) @ ¥, dfFA (R) Tord 71

(4) (A) 7@ B, dfd (R) 9L R

oRA foraneti & fere srafvifea erfrgmom = St 2
(1) @ agam =t Hm 2)
(3) YR (4) THEA0 STfversd T Kl STl

freifeRa & @ =t & fagia w1 fosm €2

(1) 1 1 fashr i &R o= o 1 g % ot e 2|

(2) o o o= g1 e e W AR s g1

(3) o=l H AT Jfedt STa HiaT-Tad a°T ST SAH-IE 3T AfKA & AR | IUISIa
B

(4) T H TESG AHEE TR B 3 |

Tl - 11 Gt - 11 & 91y gofad L a9 = iU T el 3 9§ ST A1 =91 A
et - 1 Tt - 11

(a) WRIRE stfvemd (i) HIEHS Td HocAHS SYA-I¥a Hk a8 Siod Hehedd
EEICIES

(b) TSR SR (i) BHH § SIfuswiw a1 3 W 4 96 FF W ¥ U= H wE oft 91 A1
&l T |

() SEweE Widea (i) afe afass & $o oo & afara € 9 € 9 el Wi
AT

d) <= (iv) HheIH® AT STINT H1 =T § Tod § TIHaRd g |

(@ (b) (o) (d)
)0 @ @) )
2) () G @) ()
3) (i) O Gv) ()
4) (iv) (i) @{) (@)
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37. Match the items of List - I with items of List - II and select the correct answer from the
answers given in codes :
List - I List - II
(Concept) (Theorists)
(a) Vicarious Trial and Error (i)  Skinner
(b) Hypothetical Deduction (i) Toleman
(c) Cumulative Recording (i) Hull
(d) Reciprocal Determination (iv) Bandura
Codes :
@@ (b) (o) (d)
O O @ @) @
@ O ) (v G
@) () @) O )
@ ) O @ @
38. The centre - surround organization of ganglion cells that enhance contrast at edges in a
visual environment is well illustrated by :
(1) Craik bands (2) Mach bands (3) Luminance bands (4) Optic bands
39. Match List - I with List - II and select the correct answer by choosing from the codes given
below :
List - I List - II
(Diagnoses) (Axis used in Multiaxial system)
(a) General Medical conditions @ Vv
(b) GAF (Global Assessment Functioning) (i) I
() V codes (i) I
(d) Personality disorders (iv) I
Codes :
(@ (b) (o) (d)
1) @ @) @) 0
(2) @) G@v) @ ()
() @Gv) @) @) (i)
@ @O @ @G) (@v)
oans [ [|HNANA AN s —



37. Gt - [ %! Al &l Gt - I1 & @ Gafera s a9 = U T Fel 9 9 G@ ST 1 =97 A

38.

39.

el - 1 et - 11
(STaYmoT ) ( Tagia-fauree )
(a) UfTenfs 9wl AR T@dt (i) fEER
(b) TR FTHA (i) SreTEd
(c) Hodm SAfvered (i) T
(d) s fHyRT (iv) =51
%<
@@ () (9 (d)
® @ @) @) (Gv)
2 @O (@) (Gv) (i)
@) ) Gi) @) (v)
4) (v) 1) @) (i)

Tfera i % W@ g w1 gfte e % AR W faenmg # gfs w7 S
frfafed @ T g ®

(1) %% W (2) FR T (3) e et (4) enfe wet

At - 11 At - 11 & 1 gafad wifse qeon fFrefafed 2 61 926 #3d g8 9 SW Sl =2
:‘

@—I et - 11

(fram) (Srggeitar womret & ST )
(a) T Tafewca sffefar G V
(b) SHuTE. (Sfvasw gt ) () I
(© d (V)% (i) I
(d) =Afrc fasr (iv) I
< :

@@ () (o (d)
) () @) @) (@)

) (@) Gv) @ ()
) (v) @) @) (i)
) @ @

i) (i) (iv)
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40. The growth needs of ERG theory are represented by various needs in Maslow’s model :
(1) Physiological and social needs  (2) Safety needs and esteem needs
(3) Social needs and esteem needs  (4) Esteem needs and self-actualization needs
41. In Bloom’s taxonomy of educational objectives, the following appear in ascending order :
(1) Remember — Understand — Apply — Analyze
(2) Apply - Analyze - Understand — Remember
(3) Understand — Apply - Remember — Analyze
(4) Analyze - Remember — Apply — Understand
42. Failure to develop consistent identity results in
(1) Inferiority (2) Role confusion (3) Stagnation (4) Social isolation
43. Helpers respond to the needs of a victim because they want to accomplish something
rewarding; this may be referred as :
(1) Negative state - relief model (2) Empathic - joy hypothesis
(3) Empathy - altruism hypothesis  (4) Pluralistic empathy
44. The philosophy of Advaita Vedanta in respect of shaping beliefs does not distinguish
between :
(a) Self and non - self
(b) Human and nature
(c) Human and society
Codes :
(1) (a) and (b) (2)  (a) and (c) (3) (b)and () (4)  (a) (b) and (c)
45. Which is the correct order of the emergence of following Psycho-Social strengths ?
(1) Love, Fidelity, Wisdom, Care (2) Care, Fidelity, Love, Wisdom
(3)  Fidelity, Love, Care, Wisdom (4) Care, Fidelity, Wisdom, Love
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42.

43.

44.

45.

3RS, Tagia 1 fawma e T Aied # fafie sewereraet g fHeiud 2t € -
(1) YRR IR A STavashan
(2) Y& SETIhRAT AT T AR
(3) WIS STETFHAT AU T ST
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A % Nerfore YA & et B frfafad § | SA-91 9¢d g T Sl Sl § 2
(1) IR HT — FHSA — FTIIR AT —  TTeATO BT
) STIIART FHEAT — TITAT0 BT A — FHAT — ATE HTAT
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qETd gaN fawfad w0 § fawera fFrefafed & afomesy S €
(1) BE9E 2) Hfmwisasa (3) s (4) HEITSH THERITA
O I Tl FA AT T ifed &t smavgswarsti | gfdafswan a0 € Fife 3 8 it g
T ] 3991 WA 8, FAfafed 3 9 39 Hed fean S gsvar ® ¢
(1) THRHE T - A JfaET (2) TEIYfd - A TreheTH
(3) dEIYfd - TUIHR Gl (4) wgamEl - degYfa
favamel &l SR <4 & Hay § 37gd dgid &1 g9 fferfed § 9 foas oa 95 & & ?
(a) 3T 3R FATH
(b) S SR FFfa
(c) ¥4 3R FHN
< :
() (@) 3 (b) (@) (@) 3R () () (b) ¥R (q) 4 (@), (b) ¥ (o)
frreafafed a1-armfsrs TN & eTfasia s @& 7 HiA-91 7 ?
(1) I\, f7s31, Ifgam, wamwE (2) wEE, a1, 9H, fgHmt
() a1, 9, WA, g (4) e, T, gfgar, 99
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46. From the following list of tools used by the career guidance counsellor, choose the odd one
out :
(1) DAT (2) GATB (3) DBDA (4) SVIB
47. Job design comprises of different aspects :
(a) Job enlargement
(b) Job enrichment
(c) Job rotation
Codes :
(1) @and(®) (2 @and(@  (3) (and(© @) () (b)and ()
48. The following are disorders that are included in the anxiety disorders spectrum :
(a) Panic disorder (b) Body dysmorphic disorder
(c) PTSD (d) Fugue
Codes :
(1) (a)and (b) only (2) (a)and (c) only (3) (a), (b) and (d) (4) (b), (c) and (d)
49. Detecting movement in spite of camouflage is easier for people who are :
(1) field dependent
(2) field independent
(3) both field dependent and field independent
(4) neither field dependent nor field independent
50. Read the following statement and decides :
“If a rat that had previously learned to traverse a maze or a runway to obtain food is placed
directly into a non - empty goal box, it will stop traversing the maze or runway on subsequent
trials”. What it exemplifies ?
(1) Latent Learning (2) Place Learning
Response Extinction (4) Latent Extinction
s |H||H|||H!||!|H IR 8




46. SHATEE-HAMTSIME TUHSIH G FA foht Siarel adteron st freiferd =i & 9 afe 1 =9 i -
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47.  ufey # fafr=T v B €
(a) wd fogagA (b) wE FaEA (c) wH HHTEdH
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(1) (a) 3R (b) 2 (@) 3R (o) (3) (b) 3R (o) 4) (), (b) 3R ()
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49. 3ITYI T % TG WA 37 AN ok foIT WA § S
OEEE PSR
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)

(4) & oTfHd B € 7 & & TAH e ©
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51. Match List - I with List - II and select the correct answer by choosing from the codes given

below :
List - I List - II

(a) Encoding Failure (i) Information that is not accessed evades from the
storage over a time

(b) Proactive interference (i) Information is not attended to encoding

(c) Decay (iii) Newer information interferes with the retrieval of
older information

(d) Retroactive interference (iv) Older information already in memory interferes with
the learning of new information

Codes :

@ () (o9 (d)
@O G G G)
2) @ @) (@v) (i)
(G) @) @) @) @)
@) @@ @) @ (i)

52. Read each of the following two statements - Assertion (A) and Reason (R) and indicate
your answer using codes given below :

Assertion (A) : Language affects our thought process.

Reason (R) : Language affects our ability to store information.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3) (A) is true, but (R) is false

(A) is false, but (R) is true
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i) (iv)
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—

) (
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52. Frefafed 8 sl - atfaeme (A) 3R @ (R) F1 Ufge ok 99 feu Tu %2l =1 Sl %@ g wd
I ST :

ARTRIT (A) : 9T TR Ta=m gfshan i genfad i § |
qh (R): T THRY YT U FIH h1 AT Hl G B |

(1) (A) 3R (R) I & ¥ IR (R), (A) FT T == 7
2) (A) 3R (R) A T § W (R), (A) FT & =AM T T
(3) (A) W T, AT (R) T B

(4) (A) e g, A (R) R E
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53. Trace the right sequence of hypothetical series of events by McClelland in the context of
n-Ach:
(@) n- Ach in children
(b) Independence training by Parents
() Economic development
(d) Self reliance values
Codes :
M) @0 d 0 @ @b @O @ @do o @ @ o), ae
54. Match the items of List - I with the items of List - II and select the correct answer from
answer codes given below :
List - I List - II
(Concept) (Description)
(a) Little-C (i) Everyday creativity
(b) Big-C (ii) Creativity in Eminents
(c) Pro-C (iii) Creativity in a chosen profession
(d) Mini -C (iv) Personal creativity
Codes :
@@ (b) (9 (d)
O O @ @)
@ G @ Gv) )
@) ) @ @ @)
@ O @ G G
55. Read each of the following two statements - Assertion (A) and Reason (R) and indicate
your answer using the codes given below :
Assertion (A) : Projective techniques are difficult to standardize and norm.
Reason (R) : Projective techniques are not timed tests.
Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3)  (A) is true, but (R) is false
(4) (A) is false, but (R) is true
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@) () @) @ ()
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e :
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(4) (A) 7T &, &fRA (R) T2 R

o-ous [ NI 2



56. A19year old boy was administered the Wechsler Intelligence Scale for children by the clerical
staff of a busy psychologist who later wrote the test report. A xerox copy of the test material
was shared with the child’s parents to ensure that he performs well. The following ethical
principles of testing were violated.

(a) use of appropriate test (b) professional qualification of tester
(c) copyright (d) culture fair testing

Codes :

(1) (a) and (c) only (2) (b) and (c) only

(3) (@), (b) and (c) only (4) All of the above

57. Match List - I with List - II and select the correct answer by choosing from the codes given

below :
List - I List - II

(Sleep phenomenon) (EEG display)
(a) Stage -1 sleep (i) Single large —ve wave followed by large +ve wave
(b) Stage - 3 sleep (i) Low voltage high frequency EEG signal
(c) Sleep spindle (iii) Occasional presence of delta waves
(d) K- complex (iv) Waxing and waning burst of 12-14 Hz wave
Codes

@@ (b) (o) (d)
@ Gv) (@) ()
(2) @) () Gv) @)
() @) @Gv) @ (@)
4)  (@v) @) @) @0

58. Emergent stage - I sleep is characterized by :

(a) sleep - spindle (b) electromygraphic changes
(c) electro-oculographic changes (d) K - complex
Codes :
(1) @and(® @ @and(d  (3) () (©and(d 4 ) (© and (d)

59. Self is conceptualized in Western and Eastern perspectives on personality, respectively, as :
(1) free and deterministic (2) instinctive and learned

ideal and real (4) independent and interdependent
Dass ||\||H|H| JAAATER 2 —
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et - 101 Gt - 11 o 919 gafad Sife aan fefafad fel 1 330 #id g0 |t S &l =91
HIT :

"Hjﬁ—l Tl - 10

(T w2 ) (3E.S. weviT)
(a) = - 1fs (i) TS Jed ROMHE T o IYA Jgd IS a0l
(b) =l - 3 s (i) 7 Siees 3=a Tgfd 5.3.511. Hehas
(c) Ts1 - fodew (iif) ST AN HT IST-Ha IqAHd
d) & - FEHE (iv) 12 -14 TS T 1 9gdl Td &Y Tl TEhIE
e :
(@ (b) (o) (d)
M @ (Gv) @) (i)
(2) G () @v) ()
@) @) @Gv) @ (i)
(4)  (v) () (@) ()
STt =Ror - 1 fer st fodar €
() w9 - feiga (b) FAREEIFRE IRedT
(c) T - AR qRed d) & - FFAH
< :

HTH & Heheqdl e & oy § ufeadt IR ot gfesio & swawn: frefafeas €1 # 1 T ¢ -
(1) ¥ iR fruRoert 2) WU R sAfemfaa
(3) oeE iR amqfa® (4) Tad 3R TER R
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60. Match the items of List - I and List - IT and select the correct answer from the answers given

below :
List - I
(Scholars)
(@) Cattell
(b)  Jensen
(c) Sternberg
(d) Spearman
Codes
(@ ®) (o ()
O O @) 3G ()
(2) @@ @ (v) (i)
(@) (@) (@v) () (@)
(4) @) @ 3D (iv)

(i)
(ii)
(iv)

List - II
(Concepts)
Assortative Mating
Investment Hypothesis
Wisdom

Positive Manifold

61. Match List - I with List - II and select the correct answer by choosing from the codes given

below :
List - I
(Tools/Theory)
(a)
(b) Murray’s TAT
(
(d) Rotter’s scale

@@ (b) (9 (d)

(1) (v) @) G ()
(2) @) () @) ()
®) @) (@v) @ @)
4) (v) @) @ 3
o-aas [ HIFHII N

Kelley’s Personal Construct Theory

List - II
(Features)
i) 11 categories of scoring TAT

ii) 6 subcategories of needs and goals

¢) McClleland and Atkinson’s measure of n-Ach (iii) 20 needs

(
(
(
(

iv) One postulate and 11 corollaries
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60. Gt -1 % TQl I GeAI-11 o F1e GAA L qe 99 ST 7C el H § W&t ST 1 =97 * -

e - 1 T - 11
(fagr) (T )
(a) “hed () TR §mm
(b) SIEA (i) TTerT UTeRed
(c) wfert (i) fgHa
d) wEEs (iv) THRIHE agfay
< :

@@ () (o (d)

@ @ @) @) (Gv)
2 G) (@@ @v) (i)
G) @) (@Gv) @) ()
4) @) (@) @) ()
61. el - [ et - 1 & |19 GAfoad swifse qen Fefafed Fel 1 930 w3d g0 Wel W A1 =997
HIT :
Tt - 1 Tt - 11
( FushuT/ fegia ) (TgroT)
(a) el 1 Jafaaw e fagia () AT F FHET w1 11 Ao
(b) HIH AT (i)  STETERArs qd1 A& T 6 STATAT
(c) HRicie qU Tefho H1 ITATH-TEIHAT AT (iii) 20 SETIHATG
(d) ed =t AT (iv) T STYRaE a0 11 3ufasid
e :
@@ (b (9 (d)
1) (v) (@) @) ()
2) @) (@) @Gv) (@)
G) @) (@Gv) @) (i)
(4) (@3dv) (@) (1) (i)

)
oaas [
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62. Match List - I with List - IT and select the correct answer by choosing from the codes given
below :
List - I List - II
(Concept) (Description)
(a) Phonemes (i) Smallest meaningful combination of sounds
(b) Syntax (ii) Effective and appropriate use of language in social
context
(c) Morphemes (iii) Basic sound of consonants and vowels
(d) Pragmatics (iv) Combination of words to make meaningful phrases
and sentences
Codes :
(@ (b) (o) (d)
O O @ @) @
@ () @) @) 0
@) @) (v 0 )
@) (v) (@) @ 0
63. Read each of the following two statements - Assertion (A) and Reason (R) and indicate
your answer using codes given below :
Assertion (A) : The forgetting of a memory is caused by the disappearance of its engram
over a period of time.
Reason (R) : Once the engram has disappeared, the memory no longer exists any where
in the memory system.
Codes :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3)  (A) is true, but (R) is false
(4) (A)is false, but (R) is true
64. Which is the correct sequence of Reinforcement schedules interms of their effectiveness in
response rate and resistance to extinction during learning experiments ?
(1) Variable Ratio — Fixed Ratio — Variable Interval — Fixed Interval — Continuous
Reinforcement schedule
(2) Fixed Ratio — Variable Ratio — Fixed Interval — Variable Interval - Continuous
Reinforcement schedule
(3)  Continuous Reinforcement schedule — Variable Ratio — Fixed Ratio — Variable Interval
— Fixed Interval
(4) Variable Ratio — Variable Interval — Fixed Ratio — Fixed Interval — Continuous
Reinforcement schedule
oaas || HIIRCANAN 2 Faper




62. Gt - 1! Gt - 11 % T GAferd e qeon Fefatad Fi w1 T30 F3d gL & ST Al 99

63.

64.

HIfTT
Tt - 1 T - 11
(o) (FuiT)
(a) eaf™ (i)  eafTEl 1 e el A
(b) AR & (ii) TSI Hew H o w1 gt SR SugE wEnT
(c) ®fm (iii) S SR W HI STURYA A
(d) Hond TN fomH (iv) Wi Ugl iR ARl o1 i & & foe wissi 1 wam
e :

@@ (b) (9 (d)

®» @ @ 3G (@)
(2) @) () (@v) @)
() @) @Gv) @O @)
4) (v) @) G @

frefafad 31 weri - AfueRe (A) st adh (R) F 9fey iR 1= T T el 1 ST 14 gL Ter
Wﬁm:

AURAT (A) :  THIIIA | T & FoErRor S RO G RIE FT W & 2 |

qeh (R) : Teh IR WiEhRIF o @ & S o qvarg Sqfa-do 8 wfa fammm & 76 wdt 2
e :

(1) (A) 3R (R) AT T € IR (R), (A) 1 T =08 B

2) (A) 3R (R) 1 w&t § W (R), (A) FT FEl =A@ T 7

(B) (A) ¥ ¥, dfA (R) Tod B

(4) (A) 7T &, dfRT (R) TR

ST qteToll & SR STt SAAfoRAT X H gureeierdn iR faeiod & ufasr & #g # frefafed ¥ 9
HIF-T1 GFeler ST 1 T T ¥ 2

(1) dRedE eTgfas — FfeEa safas — IRedE e — FiEa o — 9qd e

(2) ffrea srgufas — TRedia sTwfas — ffEa siae - Radia Saua - 9qd JTea
(3) Hdd GAeeH STHAT — IREdra AT — Mi=a sgafas - wRadia siae — ff=a
e

(4) ufEdha srqfas - aRedta sfaua - ffea safas - FiEa sfae - gdd gFee

ST
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65. When a Background Interference Procedure was used experimentally, the following findings
became apparent ?
(1) Field independent persons did better than field dependent persons
(2) Field dependent persons did better than field independent persons
(3) Both field dependent and field independent persons did equally well
(4) BIP enhanced the performance of all subjects
66. People with moderate mental retardation would have an IQ in the range of :
(1) 10to 19 (2) 35to 54 (3) 55t070 (4) 20 to 34
67. The following is not typically found in a school guidance counsellor’s office :
(1) Sand pit (2) Lie detector
(3)  Psychometric tests (4) Puppets and play dough
68. The following social factors play a role in educational settings :
(a) co-operation (b) competition (c) peer influence (d) role modelling
Codes :
(1) (a) and (b) only (2) (b) and (c) only
(3)  (c) and (d) only (4) All of the above
69. According to Piaget the children are able to grasp the concept of object permanence and
conservation in :
(I) Sensory motor stage (2) Pre-operational stage
Concrete operational stage (4) Formal operations stage
ST




65. <9 Tk geoyft safasmor gfafy o1 gmmeren S foan o on @ frefafaa feed saafd gu 9 :

(1) &F-STAHa Al 7 &=F-3Aga Aaferl ¥ 7= e fawan

2)  &F-3Tfya SHfadal 7 aF-AHa sAfaaal 9 ot e o

)
(2)
(3) &F-aTfHa AR &3-S IHa I IR & =Afeq 3 wHM Feares fohen

@) T4t yfafy & wEimmers swm (Sfeme. ) 3wt fawiiai & fomes o 9fs &

66. HIYRY A TS a1t Al i Jfgartsy st i f=fated § & grft -

(1) 10¥19 (2) 35¥ 54 (3) 55|70 (4) 209 34

67. Trefafead § 9 #F-91 TF Spa (YA WERier % HEfed § 7T uren S @ ?
(1) @ & TT=al (2) ¢S TS &I A

(3) HAHfTE ThE (4) HSYaferd AR T2E €A

68. frfafEa amfses wRe Srerfores fa=ma # fer frum €
(a) FEEm (b) et (c) U9HE HIYWE  (d) TSI HT STIH
ECE
(1) 9 (a) SR (b) (2) A (b) R () (3) o () I (d) (4) T W

69. ToITSl & T ER, o= frefafad § 3eva Suafey oR W& i Hehed T ! THeH § 99 Bd € :

(1) Ha<t TIfae st (2) T dfsharaes steeen

(3) 39 HishaTcHe 3T (4) A= Sisharcas sTereer
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70.

s [

Match List - I with List - II, and select the correct answer by choosing from the codes given
below :

List -1 List - I

(a) Symbolic social influence (i) A form of social influence in which one person
orders to perform some action

(b) Normative social influence (i) Social influence based on the desire to be
correct

(¢) Informational social influence (iii) Social influence based on the desire to be liked

(d) Obedience (iv) Social influence resulting from the mental
representation of others or our relationship

Codes :

Instructions for Q.Nos. 71 to 75.
Read the following paragraph and answer the five questions which follow :

Paragraph : Experimental personality research was extremely popular after 1950 for
about three to four decades. In experimental personality research, one of the major focus is
to study how the effect of experimentally manipulated independent variable is moderated
by personality variable/s. In one of such study, the researcher wanted to study whether the
effect of Interpolated learning (A) is moderated by Anxiety (B). The researcher hypothesized
that the interpolated learning would adversely affect the recall of original learning more in
high anxious subjects than low anxious subjects. Using a standardized Anxiety scale, from
an initial pool of two hundred subjects, fifty high and fifty low anxious subjects were obtained.
Both, high as well as low anxious groups were further divided into two groups-Experimental
group and Control group. The experimental groups first learned List A of CVC trigrams,
then learned another List - List B of CVC trigrams with similar association values, and then
tested for Recall (A). The subjects in control groups learned List A. Then they received the
cancellation task for the specific period (equal to the average time, taken by the corresponding
experimental group to learn List B). The subjects were then tested for the Recall of (A).
Groupwise means and standard deviations for recall scores were obtained.

The standard deviations were found comparable across the groups. Treating recall
scores as the dependent variable, the appropriate ANOVA was carried out. The main effect
of A was found significant at 0.05 level. Similarly, the F-ratio, defined as ‘MS, , 5/ MSy" was
found statistically significant at 0.01 level.
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70.

o-aus |

T - 101 Gt - 11 T gafera Hifse qen fFrefafed g2 1 380 i g8 9@t SO &1 =2
SHITST :
et - 1 T - 11
(a) YdlehTcHsh FTHITSTR GHTE (i) EHISR 99TE 1 Tk €9 SEH Th Al $59
& fomfed 3 &1 e Sa1 |
(b) TR FHEISH JHE (i) e THH M Al 35S0 o SR T FHISR JH |
(c) HEACHE FrHIfSTH GHTE (ili) THG fRT S T 3991 o STHR W HHEISE THE |

(d) eTgEm (iv) TEU i AHES TR0 126 STk |1 AN e
% TR 1 HHETS G4 |

@ b © @
0 G) @) @)
v 0
(i
()

(i) (@)
@) @
(i) (

ii)

A,.\,_\A
= W N
N N’ N N

—~~

e

.

p—

U9 H. 71 9 75 Tk o T 19T
Frefafea Tmme =i afer &R T feu 7T w & 3w T

WA . F9 1950 & S8 A T § IR ST qe TR Aol STIHYN STtaeh Arehiad
I @ | IR SAfoe ATHYE H = 9¢ 39 91 H1 eI w W e S § fF e R
TR gfte | fRT U Ty gRaet %1 yume SAfwe afedd @ guifad € S 1 39 YRR F T
ST | STTHUTRAI 36 o1d 1 LI HTA 918 & fob 1 yfere S1ferms (A) 1 9919 Y= (B)
R URadid &1 a1 81 STIEeHewRdiel 7 Waheqw &1 foh wfar siferm @ @ gfvefas wisal a6t
30aT I=a gfYEfae TANA § A ST @ TERH W AT Jfahd gue gedl 81 A
S AT 1 R R S E TSl o AR g W ® e S gfvEtas SR Te wH gfvefas
T T foRT T & | 39 34 iR g TRl 1 O < wRl - Wit whg oiR e aeE
 faafora foran o o1 39 YR g 3 uee €t e freta’i it g (' w1 i ofR 35k a9
A T qodi & qred dA . ferarl &t et fw o we, R e @ goree & fag adem
foran | fesror w@l o fawel o6t 9= ‘o6 o stfenm fopan | 9o o1 38 fafire stafy (wwged
grenfiTes T8 g1 Gl ‘@' w1 AR 0 H A 9l Hd FHE  se) W fore fRdier %
%13 &l foRaT| 36 o8 ‘%' oF TR o Tt gl o1 adiaror foRan T YR WHET o o+
feTT THgaR /g a1 /e o= 9 fovg U

A foaed, U 998 ¥ qod 9T MU0 S9E Sidl H SifrR 9RedHa 96 w9
‘THET’ wEftad fea T R w1 e UeE 0.05 TR R U® @ T SH YR F - STu
‘MS, 5/ MSy’ 0.01 &R W Hifershia gfte 9 |iefss 9 41|
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71. Which one of the following design is used in the above research ?
(1) Multigroup design with single I.V. (2)  2X2 factorial design
(3) 2Xx2 mixed factorial design (4) Repeated measures design
72.  Which one of the following statement is true in the context of above study ?
(1) The assumption of homogeneity of variance was satisfied.
(2) The assumption of homogeneity of variance was not satisfied.
(3)  The correction for heterogeneity of variance was required.
(4) The data are insufficient to evaluate the assumption of homogeneity of variance.
73. On the basis of the information provided about the main effect of A, it can be concluded
that :
(1) Interpolated learning had no effect on the recall of A.
(2) Interpolated learning caused retroactive interference.
(3) Interpolated learning caused retroactive facilitation.
(4) Either retroactive interference or retroactive facilitation has occurred.
74. What would be the degrees of freedom for the numerator and denominator of the F - ratio
defined as ‘MS, ,, g/ MSy" ?
(I) 1 and 96 respectively (2) 1 and 98 respectively
(3) 2 and 97 respectively (4) 3 and 96 respectively
75. Which of the following conclusion/s can be drawn about the researcher’s hypothesis ?
(a) Researcher’s hypothesis has been verified.
(b) Researcher’s hypothesis has not been verified.
(c) Full data have not been presented which is necessary to evaluate the researcher’s
hypothesis.
(d) Anxiety moderated the effect of interpolated learning.
Codes :
(1) (a) only (2) (a) and (d) only
(3)  (c) and (d) only (4) (b) and (d) only
-00o0-
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71. Trefafed § @ FF-91 W SR AT H WA § AR S € ?
(1) THha @as qRed! gfed 9g T98 Thed (2)  2X 2 FHRehF YTehed

(3) 2x2 fufgd wR®E Yehed (4) QIS HIOT GTeRed

72. I A & Hed § frefafad § @ sF-w1 woF W@ T2
1
2
3
4

TET ST HHNTG &1 & RO FI T |

TEOT Y HHTAT HT e RO T T G |

U1 1 ToomiTan sl Sieh ad &t SAravehar off |

WX T FHIT 1 e RN 1 Jodih HH & AU stins o €1

1)
(2)
()
(4)

73. ‘%' % O IIE F IR H ST HIER TE GIASi & MR W I8 Fewd ke S gk € F
‘&’ % ToATEH T TR AT 1 RIS guTe Tl o

gt AferTd & qeeHt STy H e ge |

gfera ST 9§ IgerTH STeRlY § STTETT g8 |

T A ITEHT ST AT YEeATd ST §99 g3 |

1
2
3

(
(
(
(4

)
)
)
)

74. MS, , p/MS; & € § qRWIA F- ST70W % 9 o fAC W@t &1 Hife 1 gl ?
(1) w8 13R9% (2) AWM 1398 (3) WA 23AR97 (4) AWM 3 IR 9%6

75. STTHYMH i YTFHheUAl & IR H FHAfafed ¥ 9 dH-a1 fshd e <1 wehar €2

(a) STTHHMST HI ERRCIAT T FATIH I fan T 7 |

(b)  STIEHTRT I YTEhedT 1 HeATTT T TRl 741 T |

(c) STTHUMHT I YTFhHTTHT T T FT & [T STEwad R Ak T Tel R TT F |
(d) g % wro ufara stferm 1 gure aftedtd & T

%<

(1) &9 (a) (2) A (a) IR (d)
(3) Fad (o) ¥R (d) (4) A (b) &R (d)
-00o0-
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